Wednesday 24th June 2020
When I estimate the answer to 2 numbers I can round each the number to the nearest 10 or 100  before I add or subtract.
I know if the digit is 0,1,2,3,4 I round down to the nearest 10/100. 
I know if the digit is 5,6,7,8,9 I round up to the next 10/100. 
For example:  Estimate the answer to 324 + 261 = 590
324 becomes 320 
267 becomes 270 
320 + 270 = 590
I have rounded to the nearest 10	
Using this same method estimate the answer to the questions below:
1. 62 + 78 = 
2. 513 – 289 = 
3. 156 + 387 =
For larger numbers I can round to the nearest hundred
For example: Estimate the answer to 3473 – 2210 = 1300
3473 becomes 3500
2210 becomes 2200
3500 – 2200 = 1300
Using this same method estimate the answer to the questions below:
1. 7632 – 4582 =
2. 1546 + 3128 =
3. 4901 – 2621 = 
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three thousand, four
hundred and twenty-seven
minus one thousand, nine
hundred and four

10a. Estimate the answer to the
calculation below.

eight thousand, five hundred and
seventeen - four thousand, three
hundred and twenty-three

11a. How have the numbers been
rounded in the calculation below to
estimate the answer?

8,725 - 2,462

Estimate: Six thousand, two hundred and
seventy

12a. Which calculation is the best

estimate for the partitioned calculation
7

three thousand, nine
hundred and twenty-four
add iwo thousand and
sixty-three

10b. Estimate the answer to the
calculation below.

nine thousand, four hundred and
twenty-five - four thousand, eight
hundred and seventy-nine

11b. How have the numbers been
rounded in the calculation below to
estimate the answer?

1,397 + 6,890

Estimate: Eight thousand, three hundred

12b. Which calculation is the best
estimate for the partitioned calculation
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B.
5,400 + 4,500

5,000 + 4,000





